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Newsletter for week ending 23 January 2011

Mon

Margot O’Brien-Marcia Barmby
Ann Singer-Judith Dahan**

Tue
Day
Betty & Tom Blom


Bill Jamieson-R Brown-Greaves


Night
Jeff Pitt-Lester Steele


Bruce Headey-Van Prapaipis**

Wed

Kathryn Beggs-Martin Strong

Ian Mansell-Colleen Clift

Thu 

Elizabeth Neesham-Joan Ford
Fri

Elizabeth Neesham-Maggie Kelly**
Sue Freadman-Savina Bianchi

Sat

Ian Mansell-Ann Perrott

Geraldine Foley-Elizabeth Neesham**

Hand of the Week Monday Board 02 N-S vul  Dealer East


Play of the cards

South opens the bidding with 1(. North, with a distributional hand, immediately senses the possibility of a slam in hearts, and therefore bids 4( to check how many Aces the South hand holds.  When South shows 2 Aces, North bids 6( to seal the contract.

It is important to plan the play in advance.  On the unhelpful lead of a small heart from East, North must take the trick in dummy and immediately lead the A( and a small ( to trump.  Then play the A(, K( and J( and trump in dummy.

Next, Declarer should lead a small ( from Dummy (dropping the King) which Declarer trumps.  Now trumps should be cleared, and Declarer returns to dummy with the A(, and discards both losing clubs on the remaining diamonds.  13 tricks in all!

Trying a diamond finesse, or playing up to the A( and back to the Q(, hoping the King is held by West, are both less likely to succeed; but if the K( does not fall on the 3rd round, you still have the club option to try if all else fails.

The next Saturday Red Point Event will be on 29th January 2011 at 1.00 pm.

The next Tuesday Red Point Event will be on 1st February 2011 at 7.30 pm.
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